LOMBARDI Ml(;up: Piaggio LDW_702

A KOHLER. COMPARigine: LDW_702/P Drawing: G

COOLING SYSTEM

POS. |CODE DESCRIPTION Qty
1 $730.020 screw M 6 X 55 1
2 6927.706 belt guard (1 antidusty ring) 1
3 2440.405 belt mm 628 1
16 9730.016 screw M 6 X 35 2
17 4501.158 gasket 1
18 6584.439 cooling water pump 1
19 4580.215 pump body gasket 1
23 3867.004 flange 1
24 1770.178 screw M 8 X 1,25 X 35 2
26 K————— » see Pos. H 49 0
27 732.016 screw M 6 X 40 1
39 7051.143 pulley 1 groove d.=105 h 38,4 1
42 1770.160 screw M 8 X 1,25 X 16 2
58 B8527.415 spacer 1
59 730.015 screw M 6 X 30 1
105 9000.078 plug 1
115 4580.168 gasket 1
116 000.134 cap diam. 60 1
160 &————-— » washer diam. 8 - no more fitted 0

printed by LOMBARDINI: 11/08/2010 - 1




g: G

'W_702/P Drawin

Engine: LD

19

el

h W
&2 A

i

I

}

=R

0
-—
-

11/08/2010

printed by LOMBARDINI:



